g Vo)

(b)

(4)

Find the maximum and minimum values of

the function f, defined by :

£(x) =(x=3)%(x+3), for all xeR.

Use implicit differentiation to find Lo b

dx
x? = .r—y.
X+ ¥
Evaluate :
j 5x—13
(x—3)(x-2)
Evaluate ;
J- sin 640

cos” 0+cosf—2

Evaluate :

! 2dx
xy/(1-4log? x)

Evaluate :

I re'dr.
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/{a] Use the method of cofactors, find the value

of the determinant :

1 a b+c
1 b cxal.
1l ¢ a+b

(b) Use Cramer’s rule to solve the following
system of equations :
x+y-z=1
Sx+2y+3z2=2
Bx+3y+z=3
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(2)
Define rank of a matrix. Find the rank of a

matrix :

o
1
— R 1
=T

1
20
3

(b) Determine the eigenvalues (characteristic

values) of the matrix :
Sl

= :
=1 0

Apply Gauss Elimination method to solve the

following equations :

2y +4x,+x3=3
3.1'1 +2..1'2 —2.1:3 =-2
X '—l..rz'l'.'-t} =0

(a) By using Newton-Raphson’s method to find
the root of x* —x—10=0, which is nearer to
x =2, correct to three places of decimal.

(b) Apply False position method to solve

3x—cosx-1=0.

3so00

(a)

(b)

(a)

(b)

(a)

(b)

¢3)
If lanA—-tanH:%and mtd—cntI?:%, find

the value of cot(4— B).

Prove that :

sin A _mﬁl

itoaad L & 2

If A, Band C are the angles of a triangle

amd cosB+cos( = 4sin2(§} then find the

value of tsmﬁtanE.
2 2

Prove that :
cos 9"+3?n 9 W5
cos59"—sin 9°
Evaluate :
S e 1

lim :
1 x3 —5x% +3x+1

Find the derivative of the functions :
(1) y=7Tsinx+2logx—e* +(x*-Tx+4)

(11) y=(cosx).(logx).



